AME HM SFZ0 - 20249 18 208

e 27w mmmy | oo | T FEENL aa
HS NS (L/min) (f/co)

01 EXEAM 1 LX-50 250 10.2 0.000 7| Ozt
02 FXEAE 2 LX-50 250 10.1 0.000 71F O|gt
03 FXEAE 3 LX-50 250 10.1 0.001 7|F O|gt
04 SXEAE 4 LX-50 250 10.1 0.000 7|z o2t
05 424 1 LX-50 130 10.2 0.001 7|& O|gt
06 =27| HiET 1 LX-50 130 10.2 0.001 7|& OJgt
07 =27| HiET 2 LX-50 50 10.1 0.001 7|& o2t
08 =7 HiET 3 LX-50 50 10.1 0.002 7% Ojgt
09 =7 Hi=ET 4 LX-50 50 10.1 0.002 7|& o2t
10 27| =T 5 LX-50 50 10.1 0.001 7|F O|gt
11 =27 HIET 6 LX-50 50 10.1 0.001 7|F o|gt
12 =7 HiE 7 LX-50 50 10.2 0.002 71F Ojgt
13 =27 HiET 8 LX-50 50 10.1 0.001 7|& o2t
14 =27 HET 9 LX-50 50 10.1 0.001 7|& o2t
15 27| HiET 10 LX-50 50 10.1 0.000 7|F O|gt
16 Y7 HIETF 11 LX-50 50 10.1 0.001 7| o2t
17 H7|E Y= 1 LX-50 50 10.1 0.001 7| O|gt
18 7|2 E2XH 1 LX-50 50 10.1 0.000 7|z o2t
19 H7|E E2X[F 2 LX-50 50 10.1 0.001 7|& 0|2k
20

21

22

23

24

25
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